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Section : General Section

Q1 J. A, G, E, V and F are sitting around a round table facing the centre. F is to the left of G, who is opposite A, V is
between A and J. Who is to the left of E?

Ans xl- v
X2G
Vi A
X4 F

\JUCDLiUII 1. JO0JOOUIOOL
‘ Chosen Option : 2 ’

Q.2

Which of the answer figure is exactly the mirror image of the given figure, when the mirror is placed on the line MN?

Question figure
M

x>

w

XL
o>
X 2.
<
ﬁlf>
v '
<t
QuEbLiUII 1D . JO0IJOOUISEHO
‘ Chosen Option : 4 |

Q.3

Ans

X 3
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The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and

definitely follow(s) from the information given in the statements.

Statement
1. All cans are jars.

2. No tins are cans.

Conclusion
I, Some jars are tins.

I All tins are jars.

Ans X 1. Both I and II follow
v 2. Neither I nor II follows
3. Only conclusion II follows

4. Only conclusion I follows

Question ID : 9895809334
Chosen Option : 1

Q.4 In a certain code, ADMIT is coded as BEPMY. then how is CARD coded in the same way?

Ans X 1. DUCH
X 2. DCHU
v 2 DCUH
X 4. UCDH

Question ID : 9895809329
Chosen Option : 3

Q.5 G.H. I Jand K are sitting in a row. J is neither next to H nor K. J is NOT at the end. H is to the left of G. Who is to the
left of K?

Ans X1 T
X2H
vl
X4 G

Question ID : 9895809331
Chosen Option : 4

Q.6 Select the option that is related to the third term in the same way as the second term is related to the first term.
Kangaroo : Hopping :: snake:

Ans - (1. Bite

X 2. Walking
3. Crawling

4. Scrolling

Question ID : 9895809326
Chosen Option : 1

Q7 Select the correct option that will fill in the blank and complete the series.

0251, 4,:6.25;9
Ans 1.
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Question ID : 9895809336
Chosen Option : 1

Select the related word pair from the given alternatives.

Ans 1. Heart : Hematology ”

NcAdARLAN . N lllaanavL

& 2. Flower : Floriculture
& 3. Human behavior : Meteoricists
4. Universe : Cosmology

Question ID : 9895809327
Chosen Option : 1

Ans x 1.3 6_[ 4;7_ EAT is written as 62149 and FINAL as 53047, how will REGAL be written?
V2 21647
A 3 22471
2 22674
Question ID : 9895809330
Chosen Option : 2
Q.1
0

A figure marked on transparent sheet is given and followed by four answer figures, one out of these four options
resembles the figure, which is obtained by folding transparent sheet along the dotted line. This option is your answer.

Question Figures:
Ans =D

P [T -1

S
v 2 Lok BB
o] !
ol |
S 100 I
al i
of 1
X a ol
of i
(O] B
©f | Question ID : 9895809346

Chosen Option : 2

Q.1




Choose the option figure in which the problem figure is hidden/embedded.

Ans

F

v

Question ID : 9895809344
Chosen Option : 3

Q.1 Four options have been given out of which three are alike in some manner, while one is different. Choose the odd one.

2

Ans X1 232]
X 2. 825
v 3 1521
< 4. 968

Question ID : 9895809339
Chosen Option : 4

Q3-1 Select the correct option that will fill in the blank and complete the series.

AA.BD.CI.DP, ______
Ans of 1 EY

X 2 FR

X 3 ER

X 4 FY

Question ID : 9895809323
Chosen Option : 2

Q.1 Sonu s taller than Yatendra, Amit is taller than Sonu. Subhash is taller than Amit. Sattu is tallest of all. If they stand
according to their height who will be exactly in the middle?

Ans X 1. Sonu
& 2. Subhash
& 3. Yatendra




v 4 Amit

Question ID : 9895809333
Chosen Option : 4

le Which of the following answer figure will complete the given figure?

-

* I

Ans
V2 &
X 3.
* a4 -

Question ID : 9895809343
Chosen Option : 2

Qél Find the missing number from the below options.

36 |44

144| ?

Ans of 1176
X 2 154
K3 179
K4 183

Question ID : 9895809340
Chosen Option : 2

Q.1 In the question two statements are given, followed by three conclusions, I, II and III. Assuming that the information in
7 the statements is true, even if it appears to be at variance with generally established facts. decide which conclusion(s)
logically and definitely follow(s) from the information given in the statements.

Statement
1. Some hills are dunes.

2. No dunes are mountains.

Conclusion
L Some dunes are hills.
L. Some mountains are hills.

II.  All hills are mountains.

Ans




& 1. Only conclusion III follows
2. Only conclusion I follows
3. Only conclusion I and III follows

< 2. All conclusions I, IT and III follow

Question ID : 9895809335
Chosen Option : 3

Q.1 Select the correct combination of mathematical signs to replace *** signs and to balance the given equation:
° 44%6*12%3 %20
Ans X 1. sen R
Nox++=
X3 +x+=

(4.-x+=

Question ID : 9895809341
Chosen Option : 4

Q.1 Four letter clusters have been given, out of which three are alike in some manner, while one is different. Choose the odd

9 one.

Ans - X 1. GCE
& 2. PLN
V'3 SIL
X 2 JFH

Question ID : 9895809324
Chosen Option : 3

de Choose the option which completes the given figure series

+ 4+ o+ ?
evia

Ans - ==3]

Question ID : 9895809342
Chosen Option : 4

Ql-2 Select the Venn diagram that best illustrates the relationship between the three given classes.

Bachelor, Married, Person

Ans




xz.@Q

Question ID : 9895809347
Chosen Option : 4

Q.2 Four words have been given, out of which three are alike in some manner, while one is different. Choose the odd one.
2

Ans 1. Quill
2. Esophagus

< 3. Cranium

< 4. Nasal bone

Question ID : 9895809325
Chosen Option : 4

Q3-2 Select the correct option that will fill in the blank and complete the series.

32,144, ., 2916, 13122, 59049
Ans X1 846
X 2. 684
v 3 648
X 4. 864

Question ID : 9895809337
Chosen Option : 2

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
‘ GHI:LKJ: STU:?
Ans X1 7ZXY
v 2 XWVv
X3 WVX

X 4 UTV

Question ID : 9895809328
Chosen Option : 2

Q.2 Select the option that is related to the Third term in the same way as the second term is related to the first term.
5
22:333::4444

Ans 15555
W 2. 55555




F )
X 455

Question ID : 9895809338
Chosen Option : 2

Qéz The Chauri Chaura incident happened in the modern state of:

Ans  of 1. Uttar Pradesh
X 2. Delhi
X 3. Kerala

4. Madhya Pradesh

Question ID : 9895809522
Chosen Option : 1

Q2 Extrusive rocks are a type of:
Ans 1. Sedimentary rocks

& 2. Fossil rocks
3. Metamorphic rocks

4. Igneous rocks

Question ID : 9895809517
Chosen Option : 1

Q.2 Which of the following suggestions to the Government about commercial lawsuits is indicated within the 2017-18
8 economic survey of India?

Ans 1. Should not make any changes in the number of lawsuits

X 2. Should increase the number of lawsuits
3. Should reduce the pendency of lawsuits

F

Should appoint a committee to examine the number of lawsuits they file

Question ID : 9895809509
Chosen Option : 2

Q.2 All living organisms are classified into kingdoms under the system proposed by Whittaker (1969),
9

Ans X 1. Seven
v 2. Five
X 3. One
& 4 Three

Question ID : 9895809512
Chosen Option : 2

93 The 2017 Sahitya Academy award for Malayalam was won by:

Ans o 1 K. P Ramanunni
X 2
#< 3. Prabha Varma




# 4. Oomen Chandy

Question ID : 9895809503
Chosen Option : 2

Q.3 The Finance Commission in India is constituted by the under article 280 of the Constitution.
1

Ans X 1. Supreme Court
& 2. Parliament

/< 3. Prime Minister
v+ President

Question ID : 9895809506
Chosen Option : 1

%3 The only Indian Prime Minister to die outside India is:

Ans - X 1. Indira Gandhi

v 2 Lal Bahadur Shastri
3. Morarji Desai

& 4. Jawaharlal Nehru

Question ID : 9895809505
Chosen Option : 2

Q3'3 In the central government budget, the annual financial statement shows:

Ans x 1.

The estimated money that has been earned by State Government of India

v 2

The estimated receipts and expenditures of the Government of India
P g

The estimated money that has been spent by the Zilla Parishad
~oa

The estimated receipts and expenditures of the individual states

Question ID : 9895809510
Chosen Option : 2

Qf An instrument called the measures the electric current in a circuit.

Ans of 1. Ammeter
< 2. Ohmmeter
/& 3. Thermometer
X 4. Gyroscope

Question ID : 9895809516
Chosen Option : 1

93 is the mark of quality for all industrial products in India.

Ans X 1. Agmark
v 2 ISI




X 3.

« 4. Ecomark
Question ID : 9895809511
Chosen Option : 2
%S In the 2016 Olympics, won the men’s 100-meter sprint gold.

Ans X 1. Jesse De Grasse
v 2. Usain Bolt

X 3. William Blake
< 4 Justin Gatlin

Question ID : 9895809501
Chosen Option : 2

93 In India, the growth of anti-colonial movement led to:

Ans - X 1. Sectarianism
& 2. Conflict
3. Diversity

v 4. Unity

Question ID : 9895809521
Chosen Option : 2

%3 The Ajodhya Hills is located in:

Ans - X 1. Uttar Pradesh
X 2. Kerala
3. Madhya Pradesh

4. West Bengal

Question ID : 9895809500
Chosen Option : 4

%3 Kud is a form of dance from the state of

Ans of 1. Jammu and Kashmir
2. Gujarat

3. West Bengal

< 4 Kerala
Question ID : 9895809499
Chosen Option : 3
Q4 won the women’s title in the 2018 US Open Tennis Championship finals.

Ans 1. Martina Hingis
v 2. Naomi Osaka

& 3. Serena Williams
& 4 Venus Williams




Question ID : 9895809502
Chosen Option : 2

Q.4
1

Ans 1. <ili
l Slli‘i?cn vroperty of Catenation is most readily predominant in:

2. Nitrogen

o[ 3. Carbon
4. Sulphur

Question ID : 9895809513
Chosen Option : 2

Q.4 ‘
2

[any

Ans . Kuchipudi . 5
-...p,,.-.ursor to the famous Odissi dance is:

. Bhangra

N

w

. Bharatanatyam

IN

- Gotipua

Question ID : 9895809498
Chosen Option : 4

Q4 ‘
3

Ans 1. ivi 3
On.lz.h..lg.% OISaNISMS sts of:
2. Living organisms and physical factors
3. Only insects
4. Only physical factors
Question ID : 9895809518
Chosen Option : 2
Q4
4
Ans «f 1. id:
Acég{ﬁ tasting food is in nature.
| 2. Neutral
3. Basic
4 Alkaline
Question ID : 9895809514
Chosen Option : 2
Q4
5
Ans . :
b Lof(_i_}{af' En_gjsf;tem of Government in Bengal was the brainchild of
2. Lord Ripon
¥ 3 Lord Clive
4.

X Lord Cornwallis Question ID : 9895809520




l Chosen Option : 2

Qé4 The Eighth Schedule of the Indian Constitution includes  languages.
Ans of 122
X2 25
F
X 4100

1o

(]

Question ID : 9895809508
Chosen Option : 2

Q7'4 Humans normally have number of pairs of autosomes,

Ans X110
X2 21
X320
v 22

Question ID : 9895809515
Chosen Option : 2

Qé“ A good measure of biodiversity of an area is:

Ans - X 1. The number of animals found there
/< 2. The number of trees found there
3. The number of people found there

4. The number of species found there

Question ID : 9895809519
Chosen Option : 2

Qé“ The union territories of India have been created because they are:

Ans of 1. Too small to be a state
2. Have too many people to be a state
3. Extremely large

4. Too big to be a state

Question ID : 9895809507
Chosen Option : 2

Q.5 What was the time period of the most recent term served by the former Chief Economic Advisor, Arvind Subramanian?
0

Ans of 1 2014-2018
X 2. 2014-2017
&< 3.2009-2014
& 4.2014-2016

Question ID : 9895809504
Chosen Option : 2

Q5




Ans X 1. 100 km/hr
v 2 120 km/hr
< 3110 km/hr
< 4. 90 knvhr

Question ID : 9895809693
Chosen Option : 2

©° The mean of 23, 45, 64, 81 and 77 is:

Ans X156
2 58
K3 54
K4 52

Question ID : 9895809679
Chosen Option : 4

Q.5 The listed price of a product is T 500. What shall be the sale price after successive discounts of 10% and 10%?
3

Ans X1 F 450
<2 T425
< 3.%400
v 2 T 405

Question ID : 9895809678
Chosen Option : 1

Q.5 Aand C,Band Cand A, B and C can complete a work in 20, 12 and 8 days respectively. In how many days A and B
4  together can complete that work?

Ans 65
< 1 = days

7

41
2. — days

3

71
3F days

60
4F days

Question ID : 9895809692
Chosen Option : 2

Q.5 A batsman scored 120 runs which included 15 fours and 2 sixes. What percent of runs scored by him running between
5 the wickets?

Ans of 1 40%
& 2. 35%
& 3.37.50%
X 4 25%

Question ID : 9895809681
Chosen Option : 1

Q5




The line graph shows the scores of a batsman in 6 matches. In how many matches was his performance better than the
previous match?

Score in each Match

Ans xl- 2

Question ID : 9895809695
Chosen Option : 1

Q° Ifa:b=2:3,b:c=5:6andc:d=8:9.thena:d=?
Ans X142 :81

< 2 44:81

<3 37:81

V2 40:81

Question ID : 9895809686
Chosen Option : 2

%5 The value of:
4243 X6—7 :is:

as o113

<2 14

<31l

X 12

Question ID : 9895809675
Chosen Option : 1

Q.5 The difference between simple and compound interests compounded annually. on a certain sum of money for 2 years at
9 6% paisT 3.6. What is the sum?

Ans - X1 T 800
< 23750
3. ¥ 1,000
4. ¥ 1,250
Question ID : 9895809677
Chosen Option : 2
QG DISTRIBUTION OF SALES IN 2017 DISTRIBUTION OF SALES IN 2018
0

The pie charts shows the percentage market share of different companies in the market for the year 2017 and 2018. The
total sale increased from 150 crores to 225 crores during 2017 to 2018. What is the ratio of sales of Company D in the
year 2018 to its sales in the year 2017?




Ans X 1.16: 21
X2 21:16
V'3 27:20
X 4.20:27

Question ID : 9895809697
Chosen Option : 1

Q.6 Anarticle was bought for T 400 and a repairing charge of ¥ 50 was paid on it. It is sold at a profit of 20%, after a
1 discount of 10% on its marked price. The marked price is:

Ans X1 ¥ 540
< 2 T 640
< 3 Z580
v 1 Z600

Question ID : 9895809683
Chosen Option : 2

Q.6 The ratio of two numbers is 4 : 5 and the sum of their cubes is 1512. The square of their difference is:
2

Ans X1 2.25
v
X s
xal

b

Question ID : 9895809684
Chosen Option : 1

Q.6 A right triangle contains the right angle between the sides 5 cm and 7 cm. A cone is generated by revolving about the
3 side 5 cm. The volume of this cone is:

Ans

XL 51§ncm3
X 2 712 mem?
Y & 81§thm3

X 4 61§n cm?

Question ID : 9895809690
Chosen Option : 1

Q.6 A cancomplete a task in 8 days and B in 16 days respectively. If they work together for 3 days, then the remaining part
4 of the work left is:

Ans x N i

16

9
2, s

16

7
3, —

16

11
4. =2

16

Question ID : 9895809691
Chosen Option : 1

—




Q5-6 A and B together have ¥ 1800. If g of A's amount is equal to E of B's amount, how much does B have?

Ans of 1.F 1200
< 2900
< 3T 750
< 2% 600

Question ID : 9895809685
Chosen Option : 2

Q.6 The bar graph shows the number of cars sold by a distributor in each month from January to June. How many more cars
6 did he sell in the second quarter as compared to the first?

Number of Cars Sold
10
95
85
I I |
Fob Apr May

Ans X120

H

o« % s smEE

i I

Question ID : 9895809696
Chosen Option : 2

Q.6 A hollow iron pipe is 10 cm long and its external diameter is 18 cm. If the thickness of the pipe is 2 cm and iron weighs
7 8.5 g/cm?. then the weight of the pipe from the following is closest to:

Ans 1 8.54 kg
2. 9.54 kg
3. 7.54 kg
4. 5.54 kg

Question ID : 9895809688
Chosen Option : 2

Q.6 In the first 20 overs of a cricket game, the average run rate was 5.50, what should be the required average run rate in the
8 remaining 30 overs to achieve a target of 290 runs?

Ans X 1. 575
X265
vse6
X 4.6.25

Question ID : 9895809673
Chosen Option : 3

Q.6 A sum of money at simple interest amounts to T 400 in 4 years and T 420 in 5 years. What is the sum?
9

Ans X1 T 340
X 23220
v 3 T320
X 4.Z200




Question ID : 9895809687
Chosen Option : 2

Q.7 220 articles droped in a water tank which is 52 m long and 47 m broad. If the average displacement of water by an
0 article is 4.5 m?, then approximate rise in the water level will be:

Ans of 1 40.5 cm
X 2.20.5cm
K3 125cm
& 4.30.5cm

Question ID : 9895809689
Chosen Option : 2

Q.7 x buys a scooter for ¥ 40,000 and spends T 5,000 on its repair. He sells it for T 54,000. What is the gain percent?

1

Ans X1 12.50%
V2. 20%
X 3. 25%
& 4 15%

Question ID : 9895809682
Chosen Option : 3

Q.7 The average age of husband, wife and their child 4 years ago was 26 years and that of wife and child 3 years ago was 22
2 years. What is the present age of the husband?

Ans X1 44 years
X 2. 46 years
X 3. 42 years
o 2 40 years

Question ID : 9895809674
Chosen Option : 4

% What is the value of:
8X3+6+7—4X2+4+8—10=?
Ans X 1.6
X2 5
a7
X4 4

Question ID : 9895809676
Chosen Option : 3

Q.7 The HCF and LCM of 2 numbers are 2 and 60 respectively. If one of the numbers is 14 more than the other, then the
4 smaller number is:

Ans X 1.7
K25
V6
X4 4

Question ID : 9895809680
Chosen Option : 2




Q.7 Two stations P and Q are 570 km apart on a straight line. One train starts from P at 5 a.m. and travels towards Q at 90
5  knvh. Another train starts from Q at 6 a.m. and travels towards P at a speed of 70 km/h. At what time will they meet?

Ans - X1 11 a.m.
v 2 9am.
X 3 1 pm.
/< 4 3p.m.

Question ID : 9895809694
Chosen Option : 2

Section : English Language

Q1 Select the meaning of the given idiom.

Hit a bad patch

Ans 1. Came across stormy weather

N

. Had a bumpy car ride
. Went through many illnesses

w

IN

- Experienced difficulty

Question ID : 9895809871
Chosen Option : 2

Q2 Select the most appropriate word to fill in the blank.

These medicines are for curing cold.
Ans - X 1. patural
v 2. effective
3. powerful

/< 4. proper

Question ID : 9895809876
Chosen Option : 4

Q.3 Identify the segment in the sentence which contains the grammatical error from the given options.

Ships are made of iron and a parts of them remains under water.

A
ns 1. under water

2. Ships are
3. made of iron

4. a parts of

Question ID : 9895809853
Chosen Option : 3

Q4 Select the antonym of the given word.

DISTANT

Ans 1.




v 2. Close
< 3. Remote
X 4 Far

Question ID : 9895809868
Chosen Option : 2

Q5 Select the meaning of the given idiom.

Man of straw
Ans of 1 Weak

& 2. Selfish
X 3. Useless
< 4. Stubborn

Question ID : 9895809870
Chosen Option : 1

Q6 Select the wrongly spelt word.

Ans - X 1. Inevitable
X 2. Intelligence

3. Idiosyncracy
< 4. Incredible

Question ID : 9895809874
Chosen Option : 3

Q.7 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No substitution required.

A well-known animal living in Antarctica are a penguins.

Ans . .
1. 1s a penguin

2. No substitution required
3. is the penguin

4. are penguin

Question ID : 9895809857
Chosen Option : 4

Q.8 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No substitution required.

The weather reports is prepared by the Meteorological Department of the Government.

Ans 1. prepared
2. Is prepare
3. are prepared

4. No substitution required

Question ID : 9895809855
Chosen Option : 3

T —




Q9 Select the most appropriate word to fill in the blank.

I will write a letter toyou _ the dates of the programme.
Ans 1. urging
2. indicating
3. involving

4. propagating

Question ID : 9895809877
Chosen Option : 2

Comprehension:
In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Orissa was hit by a cyclone with a wind speed of 200 km/h on 18
October 1999. The cyclone (1) 45,000 houses making 7,00,000
people homeless. (2) 29 October the same year, a second cyclone
(3) __ awind speed of 260 km/h hit Orissa again. It was (4)
by water waves about 9 metre high. Thousands of people (5)
their lives. Property worth crores of rupees was destroyed.
SubQuestion No : 10

le Select the most appropriate option that will fill in the blank
number 1.

Ans  of 1 smashed

& 2. burst
3. exploded

#< 4. crashed

Question ID : 9895809861
Chosen Option : 2

Comprehension:
In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Orissa was hit by a cyclone with a wind speed of 200 km/h on 18
October 1999. The cyclone (1) 45,000 houses making 7.00,000
people homeless. (2) 29 October the same year, a second cyclone
(3) a wind speed of 260 km/h hit Orissa again. It was (4)

by water waves about 9 metre high. Thousands of people (5)

their lives. Property worth crores of rupees was destroyed.

SubQuestion No : 11
Ql'l Select the most appropriate option that will fill in the blank

number 2.
Ans




A1 In
#< 2. From
X s By
v 4 On

Question ID : 9895809862
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Orissa was hit by a cyclone with a wind speed of 200 km/h on 18
October 1999. The cyclone (1) 45,000 houses making 7.00,000
people homeless. (2) 29 October the same year, a second cyclone
(3) __ awind speed of 260 km/h hit Orissa again. It was (4)
by water waves about 9 metre high. Thousands of people (5)
their lives. Property worth crores of rupees was destroyed.
SubQuestion No : 12
Q2'1 Select the most appropriate option that will fill in the blank
number 3.
Ans X1 in
< 2 from
<3 of
v 4 with

Question ID : 9895809863
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Orissa was hit by a cyclone with a wind speed of 200 km/h on 18
October 1999. The cyclone (1) 45,000 houses making 7.00,000
people homeless. (2) 29 October the same year, a second cyclone
(3) __ awind speed of 260 km/h hit Orissa again. It was (4)
by water waves about 9 metre high. Thousands of people (5)
their lives. Property worth crores of rupees was destroyed.
SubQuestion No : 13
% Select the most appropriate option that will fill in the blank
number 4.
Ans o 1. accompanied
< 2 increased
< 3 started
< 4 furnished




Question ID : 9895809864
Chosen Option : 2

l___________________________________________________________________________________________________________________________|
Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Orissa was hit by a cyclone with a wind speed of 200 km/h on 18
October 1999. The cyclone (1) 45,000 houses making 7,00,000
people homeless. (2) 29 October the same year, a second cyclone
(3) __ awind speed of 260 km/h hit Orissa again. It was (4)
by water waves about 9 metre high. Thousands of people (5)
their lives. Property worth crores of rupees was destroyed.
SubQuestion No : 14

Q1 Select the most appropriate option that will fill in the blank
number 5.

Ans X' 1. gave

< 2. left

X 3. finished

v 2 Jost

Question ID : 9895809865
Chosen Option : 4

Qél Select the antonym of the given word.

FLOOD
Ans - X' 1. Overflow
2. Drought
3. Outpouring
X 4 Abundance

Question ID : 9895809869
Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
6 substitute it, select No substitution required.

Animals adapt themselves for survive in the conditions in which they live.
Ans  of 1 to survive in
2. by surviving in
3. No substitution required

X 4. for survival on

Question ID : 9895809856
Chosen Option : 1

Q.1




Select the most appropriate word to fill in the blank.

Emperors need more resources kings because empires are larger than kingdoms.

Ans o 1 than
X 2 of
X 3. as
X 4 for

Question ID : 9895809859
Chosen Option : 1

Q.1 Identify the segment in the sentence which contains the grammatical error from the given options.

When food gets spoil, it produces a foul smell.

- When food

Ans

[any

N

- a foul smell

w

- it produces

4. get spoil

Question ID : 9895809852
Chosen Option : 4

Q.1 Identify the segment in the sentence which contains the grammatical error from the given options.
The Qutub Minar in Delhi, the world heritage site, is more than 1600 years old.

Ans 1. the world heritage site

2. The Qutub Minar

& 3. is more than
4. 1600 years old

Question ID : 9895809854
Chosen Option : 2

de Select the word which means the same as the group of words given.

A person who is blamed for something that someone else has done.
Ans - X 1. Volunteer
« 2. Scapegoat

X 3. Athlete
4. Culprit

Question ID : 9895809872
Chosen Option : 1

Ql'z Select the word which means the same as the group of words given.

A person who knows and is able to use several languages.
Ans 1. Polygamist

< 2 Bilingual




& 3. Agnostic
4. Polyglot

Question ID : 9895809873
Chosen Option : 1

Q2-2 Select the most appropriate word to fill in the blank.
The blue whale has the largest tongue which can weigh an elephant.
Ans X' 1 many more as

v 2. as much as
& 3. much
X 4 more as

Question ID : 9895809858
Chosen Option : 2

%2 Select the wrongly spelt word.

Ans X 1. Inevitable
< 2. Trresistible
< 3. Incredible
4 Incidently

Question ID : 9895809875
Chosen Option : 2

Q2 Select the synonym of the given word.

RELISH

Ans 1. Enjoy
& 2. Hate
X 3. Detest
< 4 Dislike

Question ID : 9895809867
Chosen Option : 2

Q2 Select the synonym of the given word.

STUBBORN
Ans  of 1 Qbstinate
& 2. Adaptable

3. Cooperative
< 4. Obedient

Question ID : 9895809866
Chosen Option : 2

Section : Hindi Language
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Question ID : 98958010003
Chosen Option : --

Q'z‘aga-wmﬁamﬁw#%vwam%-
Ans l'm

X 2. gATHFH

3.3§3-1T5|'Iﬁ{

4.3'1%3@

Question ID : 98958010004
Chosen Option : --

Q3 R aTv A 3 it s F TR w6 & BT SR BT F w F
e @ I Toeae SAEN F gAS o T
Ans X1 3TER
X 2. T
v : FEER
X 4. HAEGIA

Question ID : 9895809987
Chosen Option : --

O g FT gATEET AT i
Ans  of 1. STl

2 A
3 geeT

4. g

Question ID : 98958010000
Chosen Option : --

*° R T F o F I sugEd e oI
TS FATAAT T THATT HROT gl

Ans of 1 HSASTH
X 2 FEHER
X 3 AT




X 4 3PS

Question ID : 9895809990
Chosen Option : --

*° R T F R F T 9gET e F 9T F

AT eI TS Y AT T
Ans l_'abgq‘
2. gAY
3.3ﬁ
4 IS

Question ID : 9895809991
Chosen Option : --

7 FEr T AT o T AT H
M TR

2. HAHE
4,11331@’

Question ID : 98958010007
Chosen Option : --

Q8 R o s # it T3 & sforRa e ¥ v s9ged FweT &1 T H
3% faegaryt srens & A% o 1 B g o
Ans X1 HHATUTA
2 HER
5 TISEIRIuT
4 e

Question ID : 9895809986
Chosen Option : --

* R T # R F R 39T e F 9T F

I __ HAMER gl
Ans L 3ferE
.
3. Sgd
“ HE

Question ID : 9895809988
Chosen Option : --




—
% U T arw # T A AT = S w3

g # ¥ Aoy IfFa 3@ amedl & sor gu gl
L ERA R

2. T gT 3

3 AR Hedr &

4. 3FHR cTFa

Question ID : 9895809983
Chosen Option : --

U ey @ gHERET e -

Ans 1. 513[
X 2. 3T
3. YT

o~

v 9ER

Question ID : 98958010001
Chosen Option : --

% s oreg F T AT o0 B-
Ans L Eata

2. ng
3. yfase
X4 gqe
Question ID : 9895809998
Chosen Option : --
A1 N
% T& a3 AT U @ TuT
e offar
2 qiER
3. giEr
+ afEr
Question ID : 98958010006
Chosen Option : --

% T aT A @ g s A WY o B8 IR d
mmmmﬁaﬁmm§émﬁmm|
Ans xl.maat-ﬁgé




X 2 Farer F 87 1T
V ;. SICAE s
© wp oA

Question ID : 9895809982
Chosen Option : --

% el e @ A o -
.. FE
< 3 3l
X 4 grefeT

Question ID : 9895809999
Chosen Option : --

% R o A # E o A Sy e w3
TAATT I FHFGEL FUT FIAT FeZerehr B IeT 2
Ans . SECgET Ut
z.EﬁT?g?T%I

3. FEAT FIETIETehT
4 FIAT AT

Question ID : 9895809984
Chosen Option : --

% S e W AT 7 ST W F T aee -
Ans 1.313}@.

Question ID : 98958010005
Chosen Option : --

% e ¥ gy X T HEreR aT e o ¥ -
Ans lmﬁm

2. UehIUeh T8 BreT
3 e W HeT Fer e
X 4 s1fdsg Fr 19 F JF oFT

Question ID : 98958010002




l Chosen Option : --

Comprehension:
frrafaf@a ez & Rea wuer @ 9fd ae@nr & 3= e
AT FeAl F HJAR e

e & &7 & e T aF fr (1) F= 97 g1
gy W (2) T AT TMHRT FATF HIA HATeauT
gl &I IOENA FId g1 Hears AT § R O AR e e
37797 EIRT &7 3eIeT-3{oTeT #aT g1 Xl ar 3227 (3)
FRIG GTF __ (4) ATT F AT RIFR, AT
e, FROT AR A FT__ (5) FF 3W X
aAfSF Sea S 9T T4 2

SubQuestion No : 19

% Tz F wwfag Reg w= (1) ¥ B
FUYFT A, grem|

ANS 1 3l

Question ID : 9895809993
Chosen Option : --

Comprehension:
ol sz & Rea wuEt # 9fd gz & @ Re
T g F IHFAR Hifre-

e & &85 F S AT g7 B (1) F= oo B
gH W (2) FT AT TR FATSF HIA TedTeasT
gl FT IURTS Hd g1 Feas g ¢ & oo 3R foae aremr-
37T BT 87 3STeT-37aTeT 18T g1 Srdr &r 3827 (3)
& & g1 U & (4) AT F $fay RIFR, AT-
gforere, FI0T AT 97 (5) FF 3/ Y
AATSF e S T9T ST 2

SubQuestion No : 20

% ey & wrfag eg = (2) ¥ v
3UGFA 2Aeg, FM

e e




Question ID : 9895809994
Chosen Option : --

Comprehension:
=l eams & Rea wuEr & i e & J=r Ro
T FRAl F HFARX HIfST-

BT F &% F ST oleT aF Fr (1) == =91 &
gH W (2) FT ATSH MR SATAF HIA FcaTeaST
A FT IO XS &l Teas ¥E ¥ B el sk R sre-
37T YT 8T STeT-370TT 4T g1 2T &7 3227 (3)
FRAG A (4) AT F AR RSR, 0T
gforere, w%om AR 97 @ (5) FF 3W FX
aAfSs Sed e 39T S0 gl
SubQuestion No : 21

% sy F Efaa Rea = (3) ¥ v
3UYFT AT E

e X gfomr

X 2 grafees e
Ko T

v T

Question ID : 9895809995
Chosen Option : --

Comprehension:
frafafla ez & Rea st #r 9fd ez & @9 e
T geAT & FFAR HifAe-

e & &9 & SR e a7 & (1) 3 =97 2
gy W (2) FT ATTA M AATAF T HaTeaST
gl &I IOETA Fd gl Tears Ig ¢ & aiF 3R B s
37T @TRT 8T 3STeT-370TT 4T g1 2T &1 3227 (3)
FT fea &1 aF F (4) AT & Aoy RIHR, I1T-
e, FOT IR IA F _ (5) FIF 38 X
HTATTSS ST S AT 7T 2

SubQuestion No : 22
% sy & EHaT Red == (4) ¥ R
39GFA UG B
Ans of LowE
<2 geT
<3 oTeT
<4 T




Question ID : 9895809996
Chosen Option : --

Comprehension:
frrafaf@a ey & Rea wuer @ 9fd ez & 3= e
T FeAT F AN Fifre-

e & &7 & e T aF & (1) I 97 21
gy W (2) FT AT TR FATSF HIA FedTeasT
B T IR FA ¢ TeAg AT ¢ F 9 AR e srerr-
37T BT 877 3STeT-370TeT dr g1 Xl &7 3837 (3)
FRAG GA I (4) AT F AT RIPR, -
e, FROT AR IHA FT _ (5) FF 30 X
AATSF e S 9T ST 2

SubQuestion No : 23
% ez F w¥faa Reg e 6) ¥ fw
3Uged A B
Ans L gty
2. feamer
PSR e
SRCEND]

Question ID : 9895809997
Chosen Option : --

Qf%vmmﬁt@ﬁmzﬁgaﬁaﬁnnﬁama;ﬁwmﬁwqmmaﬁl
g AR Aiger A WIU-ETY e AT O g

Ans 1. m

Question ID : 9895809985
Chosen Option : --

Y Rea e # R F R 39ged aee #1994 F

AR WA 3 AT g
SR <4
&
© oo
v o b




Question ID : 9895809989
Chosen Option : --




Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
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Roll No. :

Registration No.

Name :

Exam Venue : iON Digital Zone iDZ Kannur
Exam Time : 12:30 PM - 2:00 PM

Exam Date : 11/03/2019

Section : General Section

Q.1 In a certain code, EMTWX is coded as XWTME. then how is PYSCI coded in the same way?
ans X 1. CIPSY

X 2. CYSIP

X 3. CISPY

v 4. ICSYP

Chosen Option : 4

Q.2

Four letter clusters have been given, out of which three are alike in some manner, while one is different. Choose the odd

Ans %X 1. GAT
v 2. DAT
X 3. EAV
X 2 WAD

\JquLiUII 1. JO0JooUIOHI
| Chosen Option : 3 ’

Q.3

Priti scored more than Rahul. Yamuna scored as much as Divya. Lokita scored less than Manju. Rahul scored more than

Ans Yr?a. Mrwiss m~neadingg than Divya. Who scored the lowest?

1. Lokita
< 2. Rahul
3. Manju

/< 4. Yamuna

Quealiun 1D . 969006UIS30
‘ Chosen Option : 1 ’

Q.4
Select the related word pair from the given alternatives.

Holi : Colonrs -
Ans 1. Diwali : Light

& 2. Muharram : Muslim
& 3. Hemis : Folk

) 4.
/<  Lodhi : Punjabi




Question ID : 9895809351
Chosen Option : 2

Q% Choose the option which completes the given figure series.

PROBLEM FIGURES

EEEERE

|

¢

1 || —

-

Ans -—_:
4

G ——

K2 || e—

—

X 3. T:

Question ID : 9895809367
Chosen Option : 2

Q.6 Ina hall there are seven children (including girls and boys) P, Q, R, S, T. U and V. They sit on three benches I IT and IIL.
Such that at least two children on each bench and at least one girl on each bench. R who is a girl child. does not sit with
P, T and S. U the boy child sit with only Q. P sits on the bench I with his best friends. V sits on the bench ITI. T is the
brother of R.
Who sits with R?

Ans 18

2. U

* Q
4.

Question ID : 9895809356
Chosen Option : 4

Q7 Find the missing term.

119, 109, 89, 59,
Ans of 119
X 2 39
X3 49
X4 29

Question ID : 9895809362
Chosen Option : 1

Q.8 Choose the option that most closely resembles the mirror image of the given figure when mirror is placed at right side.

Question figure:

|




Ans

X1| oo

va| 8

x| B

Question ID : 9895809370
Chosen Option : 2

Q9 Six persons A, B, C. D. E and F are sitting in two rows, three in each.

E is not at the end of any row.

D is second to the left of F.

C. the neighbour of E is sitting diagonally opposite to D.
B is the neighbour of F.

Who is facing B?

Ans 1.

i

Question ID : 9895809357
Chosen Option : 1

Q.1 Four options have been given out of which three are alike in some manner, while one is different. Choose the odd one.

0

Ans X1 135
X2 54
X372
v 4 83

Question ID : 9895809364
Chosen Option : 1

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
1 istrue, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
All flowers are fruits.
All fruits are Plants.

Conclusions:
1. All Plants are flowers.
II. Some fruits are flowers.

Ans X 1. Both Conclusions I and II follow.
/< 2. Only Conclusion I follows.




« 3. Only Conclusion II follows.

& 4. Either Conclusion I or II follows.

Question ID : 9895809360
Chosen Option : 4

Q2-1 ‘Which number is common to all the geometrical figures in the diagram below?

/N
GL\D

7

8 6
Ans X' 1.7
X2 4
X2
vis

Question ID : 9895809372
Chosen Option : 4

Q3'1 Find the missing number from the below options.

1211618
24132|?
36|48 | 54

Ans X128
v 36
X 3. 48
X 4 64

Question ID : 9895809365
Chosen Option : 2

Q.1 A figure marked on transparent sheet is given and followed by four answer figures, one out of these four options
4 resembles the figure, which is obtained by folding transparent sheet along the dotted line.
This option is your answer.

Question figure:

[ Question ID : 9895809371




l Chosen Option : 2

Qél In the following question, select the related number from the given alternatives.

47 155219
Ans X 1. 57
<2 36
< 340
v 59

Question ID : 9895809363
Chosen Option : 1

Qél Select the correct option that will fill in the blank and complete the series.

AEI EIO, IOU, ——
Ans - X 1. QAU

v 2 OUA

X 3. I0A

& 4 MIL

Question ID : 9895809348
Chosen Option : 2

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
7

AE:IM:HL:?
Ans of 1. PT
X2 TP
X 3 DS
X 4 FU

Question ID : 9895809353
Chosen Option : 1

1 . : 5
Q8 If ‘“+’ means ‘-, '—' means ‘x’, ‘<’ means ‘=’ and ‘-’ means ‘+’, then:

43-2 X2+8 =?
Ans X' 1. 42

v 35

<3 25

< 440

Question ID : 9895809366
Chosen Option : 2

Q.1 Four words have been given, out of which three are alike in some manner. while one is different. Choose the odd one.
9

Ans X' 1. Chennai
& 2. Mumbai
< 3. Dispur




v 4. Jharkhand

Question ID : 9895809350
Chosen Option : 4

Q(-)Z In a certain code, GYM is coded as 2275, then how is KIT coded in the same way?

Ans of 1. 1980
X 2. 1950
& 31970
X 4. 1960

Question ID : 9895809355
Chosen Option : 1

Q2 Select the correct option that will fill in the blank and complete the series.

43,355,779, 115,
Ans of 1163
X2 127
X3 172
X 4139

Question ID : 9895809361
Chosen Option : 1

Q2'2 Select the related word pair from the given alternatives.

Andhra Pradesh : Telugu ::
Ans - X 1. Goa : Hindi
& 2. Assam : Maithili

3. Tripura : Telugu

4. Kerala : Malayalam

Question ID : 9895809352
Chosen Option : 4

Qg;z Which of the following answer figure will complete the given figure?

Question figure:

N
N

Ans




5 3

Question ID : 9895809368
Chosen Option : 4

Q.2 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
4 s true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:

Some potatos are tomatos.
All tomatos are onions.
Conclusions:

1. Some tomatos are potato.
1I. All onions are potato.

Ans - X 1. Either Conclusion I or II follows.

2. Only Conclusion I follows.
3. Only Conclusion IT follows.
X 4. Both Conclusions I and II follow.

Question ID : 9895809359
Chosen Option : 1

Qéz Choose the option figure in which the problem figure is hidden/embedded.

Question Figure:

o

Ans

r 48

&
[




I

R

Question ID : 9895809369
Chosen Option : 2

%2 A satyagrahi could win the battle with non-violence by:
Ans 1. Appealing to the common people of the oppressors
2. Appealing to the charity of the oppressors

3. Appealing to the conscience of the oppressors

4. Appealing to the leaders of the oppressors

Question ID : 9895809546
Chosen Option : 4

Q.2 The system of Government divides the legislature into two separate assemblies, chambers or houses.
7

Ans - X 1. Unicameral
v 2. Bicameral
3. Quadracameral

& 4. Tricameral

Question ID : 9895809536
Chosen Option : 2

Qéz Jiziya Tax, during the Mughal Empire was a tax levied on:

Ans - X 1. Muslim citizens
< 2. All the citizens
/< 3. Noble citizens
v 1. Non-Muslim citizens

Question ID : 9895809533
Chosen Option : 1

Qéz In the 2018 Australian Open, was the winner in the Women’s singles event.
Ans  of 1. Caroline Wozniacki
2. Martina Hingis
X 3. Serena Williams
& 4 Venus Williams

Question ID : 9895809527
Chosen Option : 2

%S The 2017 Sahitya Academy award for Gujarati was won by:
Ans 1. Ramesh Megh

& 2. Himanshu Patel
v 3 Urmi Desai




< 4 David Shah

Question ID : 9895809528
Chosen Option : 1

Q.3 All the things we use or consume, except are obtained from resources on this earth.
1

Ans 1. energy from water
2. energy from wind
3. energy from friction

4. energy from the sun

Question ID : 9895809544
Chosen Option : 3

%3 During the first world war (1914-1918):

Ans - X 1. Prices went down
2. Prices increased by less than 10%

3. Prices remained unchanged

v 4. Prices almost doubled

Question ID : 9895809545
Chosen Option : 3

%3 Bitter tasting food is in nature.

Ans X1 Alkaline
X< 2. Acidic
/< 3. Neutral
v 2 Bases

Question ID : 9895809539
Chosen Option : 4

Qf Democracy is considered to be better than dictatorship as it:
Ans 1. Allows special provisions for mistakes

2. Enhances the dignity of people

w

. Reduces equality among citizens

4. Encourages conflicts among people

Question ID : 9895809534
Chosen Option : 4

%3 The first Indian Prime Minister to have been assassinated is:
Ans  of 1. Indira Gandhi
2. Morarji Desai

& 3. Lal Bahadur Shastri
& 4. Jawaharlal Nehru




Question ID : 9895809530
Chosen Option : 4

%3 Which of the following destroys ozone?
Ans 1. Sulphur

X 2. Carbon
¥ . Chlorine
X 4 Silicon
Question ID : 9895809538
Chosen Option : 2
Q7-3 Consumers have a right to seek against unfair trade practices and exploitation.

Ans 1. Penalty
2. Sympathy
3. Injury
v 4 Redressal

Question ID : 9895809532
Chosen Option : 1

%3 Sugam Tax is related to:

Ans o 1. Income Tax
X 2. Custom Duty

3. Excise Duty

& 4 Commercial Tax

Question ID : 9895809531
Chosen Option : 4

%3 Substances said to be biodegradable:
Ans 1. Can be broken down by physical process
2. Can be broken down by chemical process
3. Can be broken down by biological processes

< 4. Cannot be broken down at all

Question ID : 9895809543
Chosen Option : 2

% The Kulik bird sanctuary is located in:
Ans 1. West Bengal

& 2. Uttar Pradesh
X 3. Kerala
4. Madhya Pradesh

Question ID : 9895809525
Chosen Option : 1




—
Qi4 In the 2016 Olympics. won the gold in women’s 100-metres sprint.

Ans 1. Elaine Thompson
2. Shelly-Ann Fraser-Pryce
< 3. Gail Devers
4. Wyomia Tyus

Question ID : 9895809526
Chosen Option : 3

%* The ‘Ranappa’ dance is from the state of:

Ans of 1. Odisha
< 2. Tamil Nadu

< 3. Kerala

4. Punjab

Question ID : 9895809523
Chosen Option : 2

QS;“ Dumbal is a form of dance from the state of:
Ans 1. Gujarat

< 2. Kerala
3. West Bengal

« 4 JTammu and Kashmir

Question ID : 9895809524
Chosen Option : 3

Q‘i“ The first Bharat Ratna award of independent India was given to:

Ans - X1 C.N.R Rao
& 2. Jawaharlal Nehru
v 3. C.V Raman
< 4. Sardar Patel

Question ID : 9895809529
Chosen Option : 4

%* Green algae are green because of:
Ans 1. phycoerythrin

2. chlorophyll

3. xanthophylls

4. phycobilin

Question ID : 9895809537
Chosen Option : 1

Q.4 Who amongst the following is the Minister for Rural Development in India as on Feb 2019?
6




Ans 1. Narendra Singh Tomar

< 2. Anant Geete
& 3. Dharmendra Pradhan
4. Santosh Kumar Gangwar

Question ID : 9895809535
Chosen Option : 1

Q* The Southernmost port in India is located in the state of:

Ans - X 1. Andhra Pradesh
v 2. Tamil Nadu
< 3. Kerala
4. Telangana

Question ID : 9895809542
Chosen Option : 3

Qé“ The human sex chromosomes determine the gender of the child, with XX being:

Ans 1. Transgender

v 2 Female
X 3. Could be either female or male
< 4 Male
Question ID : 9895809540
Chosen Option : 4
Q.4 Harappa and were the two ancient, excavated cities that were part of the Indus Valley Civilization.

9
Ans X 1. Varanasi
< 2. Hastinapura
X 3. Surat
4. Mohenjo-Daro

Question ID : 9895809547
Chosen Option : 3

Q(-)5 An instrument called measures ‘electric potential difference’ in a circuit.
Ans X" 1. Gyroscope
< 2. Ohmmeter

Vs Voltmeter
& 4 Thermometer

Question ID : 9895809541
Chosen Option : 3

Q.5 A solid metallic sphere of radius 4 cm is melted and recast into '4' identical cubes. What is the side of the cube?
1

Ans
X L 73\/§cm




X 2 53\/§cm
X 3 63J§cm
v 43J§cm

Question ID : 9895809713
Chosen Option : 4

Q.5 The bar graph shows the number of cycles sold by a distributor in each month from January to June. What is the increase
2  in the number of cycles sold in April as compared to March?

Number of Cycles Sold

Ans  of 1. 75%
X 2. 78%

X 3. 68%
X 4 70%

F I
T I

Question ID : 9895809721
Chosen Option : 2

Q.5 The ratio between the perimeter and the breadth of a rectangle is 3 : 1. If the area of the rectangle is 310 sq. cm, the
3 length of the rectangle is nearly:

Ans X 1. 11.45 cm
& 2.1045cm
V'3 12.45cm
& 4 1345cm

Question ID : 9895809714
Chosen Option : 3

Q‘.15 The volume of a solid sphere is 4851 m*. What is the surface area of the sphere? (Take = ?)
Ans of 11386 m?

X 2 1364 m?

X3 1260 m?

X 4 1408 m?

Question ID : 9895809715
Chosen Option : 1

Q5'5 Find the value of:

(7X6+5—15)+-4+6+-3—-4+18=3
Ans of 112

X214

X316

X 418




Question ID : 9895809701
Chosen Option : 1

%5 What is the reciprocal ratio of 4 : 5: 8 ?
Ans X1 8:5:4

<25:4:3

X33:4:5

v:10:8:5

Question ID : 9895809711
Chosen Option : 1

Q.5 The list price of an article is T 80. A customer pays T 30 for it. He was given 2 successive discounts, one of them being
7 50%. What was the other discount?

Ans X1 20%
& 2. 12.50%
X 3 30%
v 4 25%

Question ID : 9895809703
Chosen Option : 2

Q.5 X, Y and Z can complete a piece of work in 8, 20 and 25 days respectively. Working together, they will complete the
8 same work in:

Ans 20

162

K 2 = days
200

Vs o days

172
X4 — days

Question ID : 9895809717
Chosen Option : 1

Q.5 A grocer has a sale of T 3,425, 3,810, ¥ 3,155 and ¥ 3.610 in 4 consecutive days. How much sale should he have in the
9 5thday so as to get an average sale of T 3,500?

Ans 1% 3,500
2. T3,435
3. ¥3.480
4. T 3,455

Question ID : 9895809698
Chosen Option : 3

Q.6 A car owner buys petrol at T 40, ¥ 50 and T60 per litre for 3 consecutive years. If he spends T 30,000 each year, what is
0 the average cost of a litre of petrol? (correct to two decimal places)

Ans  of 1. T 48.65
<2 .351.20
< 334920
X 4%50




Question ID : 9895809699
Chosen Option : 4

Q.6 P works twice as fast as Q. If Q can complete a task in 36 days independently, the number of days in which P and Q can
1 together complete the task in:

Ans 1. 12 days
2. 9 days

3. 16 days
4. 18 days

Question ID : 9895809716
Chosen Option : 1

Q.6 A train passes a platform in 42 seconds and a man standing on the platform in 25 seconds. If the speed of the train is
2 72 kmv/hr, what is the length of the platform?

Ans X1 300 m
& 2 270m
v 3 340m
X 4 370 m

Question ID : 9895809718
Chosen Option : 1

%° What is the greatest 3-digit number divisible by 4, 5 and 6?

Ans X 1. 990
X 2930
v 3960
< 4900

Question ID : 9895809705
Chosen Option : 3

inG If a equals 20% of ¢ and b equals 40% of ¢, then which one of the following is 150% of b?

Ans - X 1. 50% of ¢
< 2. 250% of a
K 3. 65%of ¢
v 2 300% of a

Question ID : 9895809706
Chosen Option : 4

Q.6 Two numbers A and B are respectively 80% and 50% more than the third number C. What is the ratio of A and B?
5

Ans of 1 6:5
X25:6
X3 8:5
X45:8

Question ID : 9895809710
Chosen Option : 3

o




6 A cloth piece was purchased for T 700. At what price should it be sold to get a profit of 12.5% after a tailoring charge of
T 20 was paid for?

Ans - X1 F 760
V2 %310
X3 T785
< 4 T840

Question ID : 9895809707
Chosen Option : 1

Q.6 The length of the bridge. which a train 400 metres long and travelling at 60 km/hr can cross in 36 seconds, is:

7
Ans X1 450 m
X2 250m
'3 200m
& 4500 m

Question ID : 9895809719
Chosen Option : 1

Qée Find the value of:

(1144)—9x1+30f4
Ans 75
1. —

4

ﬂ

4

X35
K43

Question ID : 9895809700
Chosen Option : 3

Q.6 The pie charts show the market share of the companies in the detergent market in 2017 and 2018. The total size of the
9 market has decreased from ¥ 300 crores to T 200 crores. What is the decrease in the sales of Company F?

DISTRIBUTION OF SALES IN 2017 DISTRIBUTION OF SALES IN 2018

A
"X 14§%
2. 123%
3
3. 332 9
3

4, 133%
3

Question ID : 9895809722
Chosen Option : 4

|
Q7




The line graph shows the scores of a batsman in 6 consecutive
matches. What is his batting average in the 6 matches?

Score in each Match

Ans X1 37.19
X 2. 38.33
X 3. 38.17
v 4 39.17

Question ID : 9895809720
Chosen Option : 2

Q1-7 If the selling price is tripled, the profit becomes 5 times. What is the profit percent?

Ans of 1 100%
X 2. 200%
X 3. 50%
X 4. 150%

Question ID : 9895809708
Chosen Option : 3

Q2-7 A sum fetched a total simple interest of T 1,350 at 9% p.a. in 5 years. What is the sum?

Ans 1. ¥2,000
2. £3,300
3. T2,500
4. ¥ 3,000

Question ID : 9895809712
Chosen Option : 2

Q3'7 What is the value of x if the mean of 21, 26. 49 and x is 32?

Ans X130
X 2 36
Vs 32
X4 34

Question ID : 9895809704
Chosen Option : 3

Q.7 If 15 apples cost as much as 6 strawberries, 2 strawberries cost as much as 16 bananas, 6 bananas cost as much as 15
4  potatoes, then what is the cost of 1 potato if an apple costs T 20?

Ans 1. F25

X 232250




V'3 %250
X4 T225

Question ID : 9895809709
Chosen Option : 3

Q.7 A sumof¥ 1,000 becomes T 1,144.90 in 2 years. At what rate is the interest is compounded annually?

5

Ans of 1. 7%
X 2 5%
X 3 8%
X 4 6%

Question ID : 9895809702
Chosen Option : 1

Section : English Language

Q1 Select the synonym of the given word.

COMPASSION

Ans - X 1. Indifference

< 2. Heartlessness
3. Cruelty

v 4 Pity

Question ID : 9895809893
Chosen Option : 3

Q2 Select the wrongly spelt word.
Ans - X 1. Believe

< 2. Conscience

v 3 Irresistable

< 4. Apparent

Question ID : 9895809901
Chosen Option : 1

Q.3 Identify the segment in the sentence which contains the grammatical error from the given options.
Thunderstorms develop in hot, humid tropical areas like India much to frequently.

A .
" 1 tropical areas

N

frequently

w

- Thunderstorms develop

4. much to

Question ID : 9895809878
Chosen Option : 1

T EEEE—————————————————————————————————————————————————————§
Q4




Select the word which means the same as the group of words given.

Intentionally starting a fire to damage something
Ans 1. Extinguish
v 2 Arson
X 3. Crime
X 4 Loot

Question ID : 9895809898
Chosen Option : 1

Q.5 Identify the segment in the sentence which contains the grammatical error from the given options.

The earthy fragrance of soil after a first rain is always refreshing.

Ans 1. always refreshing
2. The earthy

v 3 a first rain
4. fragrance of

Question ID : 9895809880
Chosen Option : 2

Q6 Select the most appropriate word to fill in the blank.

India gets a large number of medical tourists and visitors many countries.

Ans 1. through
X 2 by

v 3 from
75 4. across

Question ID : 9895809885
Chosen Option : 3

Q.7 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No substitution required.

In vigorous exercise, the demand for bodily energy is very high.

A . x
"S 1 Invigorously exercise

N

- No substitution required

w

- 'While vigorous exercise

4. During vigorous exercise

Question ID : 9895809883
Chosen Option : 1

Q8 Select the most appropriate word to fill in the blank.

Unlike the calm waters of lakes, ocean water keeps moving

Ans L. continuous

' 2 continuously




& 3. continue
4. continuing

Question ID : 9895809884
Chosen Option : 1

Q9 Select the wrongly spelt word.

Ans X' 1. leisure

2. Independant
3. Judgment
X 4. license

Question ID : 9895809900
Chosen Option : 4

Q(')l Select the most appropriate word to fill in the blank.

After reaching New York, Prakash will have to himself to the
new surroundings.

Ans 1. develop
X 2. mix
< 3. submit
4. adapt

Question ID : 9895809903
Chosen Option : 3

Ql'l Select the meaning of the given idiom.
Bite off more than one can chew
Ans 1. To have an upset stomach
2. To be always hungry

v 3. To take more than one can deal with
4. To attack fiercely

Question ID : 9895809896
Chosen Option : 4

Q! Select the most appropriate word to fill in the blank.

The authorities have  into this incident.
Ans - X 1. examined
< 2. evaluated
X 3. tested
4. probed

Question ID : 9895809902
Chosen Option : 2

o1




3 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No substitution required.

The food is broke down into useful substances that can be absorbed by the body.

Ans of 1 s broken down
& 2. break down
3. is breaking down

4. No substitution required

Question ID : 9895809882
Chosen Option : 2

Q1 Select the antonym of the given word.

AGONY

Ans X 1. Suffering
< 2. Affliction
v 3. Pleasure
& 4 Pain

Question ID : 9895809894
Chosen Option : 1

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
5 substitute it, select No substitution required.

Yesterday, Maria was eagerly waited to meet her grandparents.

Ans 1. No substitution required

2. was eagerly waited

w

eagerly wait

N

. was eagerly waiting

Question ID : 9895809881
Chosen Option : 4

e ____________________—
Q.1 Identify the segment in the sentence which contains the grammatical error from the given options.

Continuous heavy rainfall may farther worsen the flood situation.

AS 1 rainfall may

2. Continuous

w

. farther

~

- flood situation

Question ID : 9895809879
Chosen Option : 3

Q7'1 Select the word which means the same as the group of words given.

A person employed to drive a private or hired car
Ans  of 1 Chauffeur

& 2. Astronaut

< 3. Sailor




< 4 Pilot

Question ID : 9895809899
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Settlements are (1) where people build their homes. (2)
human beings lived on trees and (3) caves. When they started (4)
crops it became (5) to have a permanent home.

SubQuestion No : 18

QL Select the most appropriate option that will fill in the blank
number 1

Ans X 1. quarters

X 2. sections
75 3. passages

4. places

Question ID : 9895809887
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Settlements are (1) where people build their homes. (2)
human beings lived on trees and (3) caves. When they started (4)
crops it became (5) to have a permanent home.

SubQuestion No : 19

Qél Select the most appropriate option that will fill in the blank
number 2

Ans X 1. Prior
& 2. Previous

3. Early

X 4. Initial

Question ID : 9895809888
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Settlements are (1) where people build their homes. (2)
human beings lived on trees and (3) caves. When they started (4)
crops it became (5) to have a permanent home.

SubQuestion No : 20

Q(')z Select the most appropriate option that will fill in the blank
number 3




Ans X 1. around
#< 2 on
X s at
v 2 in

Question ID : 9895809889
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Settlements are (1)

human beings lived on trees and (3)

crops it became (5)

where people build their homes. (2)
caves. When they started (4)
to have a permanent home.

SubQuestion No : 21

Q2 Select the most appropriate option that will fill in the blank
number 4

Ans 1. growing
K 2
X 3.
< a

grows
grown

grow

Question ID : 9895809890
Chosen Option : 1

Comprehension:
In the following passage some words have been deleted. Fill in the

blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Settlements are (1)

human beings lived on trees and (3)

crops it became (5)

where people build their homes. (2)
caves. When they started (4)
to have a permanent home.

SubQuestion No : 22

Q2'2 Select the most appropriate option that will fill in the blank
number 5

Ans X 1. peeded
2. required
« 3. necessary

4. requirement

Question ID : 9895809891
Chosen Option : 1

2 : -
Q3 Select the synonym of the given word.

GRATIFICATION
Ans - X 1. Dissatisfaction
v 2. Satisfaction




& 3. Complaint
< 4 Annoyance

Question ID : 9895809892
Chosen Option : 1

@2 Select the antonym of the given word.

AGREEMENT
Ans o 1 Discord
X< 2. Accord
X 3. Consensus
/< 4. Harmony

Question ID : 9895809895
Chosen Option : 1

%% Select the meaning of the given idiom.

Under the gun
Ans X 1. To be cruel
& 2. To be brave
X 3. To be killed
4. To be under pressure

Question ID : 9895809897
Chosen Option : 3

Section : Hindi Language

! 3egaTe T T g ¥ -
Ans 1. ﬁm

Question ID : 98958010027
Chosen Option : --

Q2 fw 1w arry & w@ifera @5 @ Sfarula s & v sugwa Rees &1 =97 F31
FT AT qEd 4T W A T A E |

Ans o TETS




Question ID : 98958010013
Chosen Option : --

* ‘T W AT AT FEER F E HY Y -
Ans o 1 TTH AP AT

3.§1TS]T~ITEI%?IT

o 3 F= g

Question ID : 98958010029
Chosen Option : --

O & IS TTer e T TIT HY
Ans 1. 3#3@

Question ID : 98958010033
Chosen Option : --

° R T o & AT 39gFT g H AT F
gaet Hr ST AT F HET 3297 &

2. FaTSIFAT
S NECE )
4 AT

Ans

Question ID : 98958010017
Chosen Option : --

Q6 Rr 1w g F w@ifha T F SfaTaRE = F T s9gFT ReT F1 T9T =
sﬂa;rﬁqgs%ommmz-ﬁa’n

Question ID : 98958010012
Chosen Option : --

7 wEr TS T o F TIA

Ans




X 1. gregTer
2. geeTer
3. 9TegTq
4 HegTer

Question ID : 98958010032
Chosen Option : --

0% g reg F T ueT B-

Ans

Question ID : 98958010024
Chosen Option : --

09 faw T AT 1 T AT AT S B IR
5T F9% # v WS @ar o1, 3 R F 3AH W9 Faa ofr 'S A
AL e T e s /S ¥
2 38 AR H
3 T WS T@ar o,
‘o AR A

Question ID : 98958010008
Chosen Option : --

% R T # s ¥ w 3uged e # 99 Y

HeqUT H oredl & AT H ¥ FH T =g
2. gpTeT
5. drgar
4 TTH

Question ID : 98958010015
Chosen Option : --

%! grEEdr # gaEE o B
Ans 1. m.uﬂ.

2. grafready
X 3. STl




< 4 i

Question ID : 98958010026
Chosen Option : --

Comprehension:
ol eams & Rea wuer & i ez & &= o
AT FRAT F HFARX HIfST-

3 AR A Fel gE geT ¥ 3@ W faEw fRar g 5 A,
ATgEfE AR (1) T AT T F© FOT 87 § A7 712
T AT HITHN ol ol &, Th &I g # Weol-Feas AR
-t AT TT 81T § AR TH ST 9 & H TR
FA Fr (2) &, 39 FEIRF SN H GEAT T
g ST 3T W 941 39FR g, 30 v o FE F74
HTIH WA Fded A4 §7 TR AT 33 AT TR, FIR
FAT AT HTAT AT H TG F TR & SAH, IJTA H

(3) ¥ HFT | FAX A (4) Fgams R
Ag@ae 7 39 S Bl S W o= @, 7 99
HIIROT FET &1 S0 Id T el FLT (5) F uX W
Tl F AT ¢l

SubQuestion No : 12
Y e F I Reg e (1) ¥ fw
39YFT A FT
Ans 1. HTHATST
7 2. EHTST
W o ISTSTST

4. FEIT ATST

Question ID : 98958010019
Chosen Option : --

Comprehension:




Q.1
3

Ans

ferafof@a ey & Rea = & qfa @@ & 9= o
T g F AR Ffre-

3T AN A FEl E Ted @ 39 W AR fewr g B A,
g AR (1) T 3 T FT HOT 87 g A7 712
TH Aol AT FoH &l ¢, T 1 G A Tel-HEa 3R
Q- 3T T g § 3R TF ATIH 39 & F GRS
A B (2) & HTH WA G B GEAT FeAr
g #3957 39K B, 385 v T Fer a2
HTIHT GTH Fded FAgT 22 TN AT 33T AT BT, FT
FAr HR I AT H T A TR & FH, HIR F

(3) ¥ HFT F| FAEX A (4) FgemHT AR
ATGRaHT # HA P Sg M3 WG o0 ©, T€ 99
TIRUT FET §1 T I T ITeld T (5) #r uT I
TS F FAA gl

SubQuestion No : 13
IS H Thfad Nad wa (2) & e
39gFd ASE B

B UEG]

2. Higd

=2

o A &
. s

Question ID : 98958010020
Chosen Option : --

Comprehension:
frrafaf@a ez & Rea wumr i i o & = o
T FeAT & HJAR Hifore-

T AN A FEl E Fed @ 39 W AR fer g B A,
argfaE R (1) & 31T R F FOT 87 § I 72
TH AT AT SToH &l §, T $T MG J Wel-daad 3R
Gr-dreT AT TT g § AR TH e IS & H T
T Fr (2) & 319 WEIRF S P GEAT T
| ST 3T N 9 39FR g, 36 [T T FE #7440
HTHT WH Faed FAdl g7 SO HASAT! 33 HTAET BIE, FAT
FA AR AT AT F JIT F TR E A, IJTA

(3) ¥ HFa H| FER A (4) Fgamar 3R
AGhaHT # HA P S5 M3 WG oo |, T€ 99
HIIROT F8T &1 SH I T ITeled HIaT (5) #r X I

TS & A gl




SubQuestion No : 14
% s F afaT Rea we (3) ¥ fBw
3IYFA S 1|

XL SRR
v 2 Rgwe
X o FTHROT
X o TEHOT

Ans

Question ID : 98958010021
Chosen Option : --

Comprehension:
forrafof@a ey & Rea wuer @ 9fd ez & = e
T FeAl F HJAR e

3T AT A Fr o Fe @ 39 W faEm v § & A
g AR (1) T 3T 9T FT KT o § A7 712
TH FAAA TR FoH S 8, TH H M H W-Fea AR
-t AT TT g § A TH IR IS & TR
FAH (2 T, HUF FENF AGT H GEAT FATA
g ST 3T W 3941 3UFR g, 36F v T F@r =
TR WH Faed Adr g7 TN HASAT! 33T HTAET BT, FAT
FAT AT HTAT AT H FAT F IR & FTH, HTT F

(3) ¥ HFT | FAX A (4) FgemaT 3T
AgREH 7 e HfT B3 3 W o W@, T T
HIUROT FET &1 SH I &1 9Tedel el (5) & U W
Tl F AT ¢l

SubQuestion No : 15
S sy & THaT Reg == () ¥ R
3UYFT A E
M L ER
X2 W
x> TR
X o

Question ID : 98958010022
Chosen Option : --

Comprehension:




forrafof@a ey & Rea wuer @ 9fd ez & = e
T FeAl F HJAR e

3T A A Fr o g6 § 39 W fEm v § & A
argefE AR (1) T 3T 9T FT KT o § A7 712
TH Aol HTH FeH &l §, TH I Mg F Yer-FeaT HR
-t AT TT g § A TH IR IS & TR
FAH (2 &, HUF FENF G H GEAT FATA
g e 3T W g9 3UFR g, 36F v o Fer
HTIHT ITH Fded FT 22 TN HSAT! 337 HTAET TS, FAT
FAT AT HTAT AT H FAT F IR & FTH, HTA F

(3) & HFT FU| FAX A (4) FgemaT 3T
AgREH 7 A HifT B3 3 W oI @, T T
HIIROT FET &1 SH I &1 ITedel el (5) & U W
Tl & AT ¢l

SubQuestion No : 16
% sy F TS ReT @ (5) ¥ fw
39GFA MG B
Ans X1 grey
K2 g@qﬁ
X 3 FeER
W 4 aTE}\-T

Question ID : 98958010023
Chosen Option : --

Y Rea e W R ¥ T swEd e # 9T

aﬁﬁaﬁr@rmméammeﬁr |

A XKL e
X 2 =T
X 3 Srerdr
v eI

Question ID : 98958010016
Chosen Option : --

S gomeT # e e ¥ -
e KL e
Jz.ﬁ-%?r
X3 3T

Ko R




Question ID : 98958010025
Chosen Option : --

% S 3l T A AT A & T o e ggF AT -
Ans o 1 3TSEAT
X 2 FHART
3 fae
4. gl

Question ID : 98958010031
Chosen Option : --

% SR # e far ey w g A ¥ -
AL R F e &
X 2. AT 33T
3 IEWN AT H AT A

4. QIffeT BT

Question ID : 98958010028
Chosen Option : --

Qizmmmﬁm'mdgﬂqﬁwﬁama?mmﬁmﬂmﬁl
JeTeer AT ST A e wEe
ans of 1 HHST
X2 g
.

Question ID : 98958010011
Chosen Option : --

Y IR o % o s % e o o B
AnSXl.?ﬂ'
v HTEIE
3. gUI¥Ig
4 FHIR

Question ID : 98958010030
Chosen Option : --

% Ru o1v e # g 6 A Y fead wE IR
e & safafa @1 v 7 sregedor et famar )

Ans




X 1. 3T

2. IS famar aram)
s sofafg & v &
4.%331?{3#

Question ID : 98958010010
Chosen Option : --
—
% R T @ R & T g e w1 TT w0

TH A A AT F TH T HOS A T g @ gl
Ans 1. m
f( 2. qRATATT
K 3 garT
4. g’r’ezr
Question ID : 98958010014
Chosen Option : --

—
% T T TET w9 AT AT R P TR A

regrgel & 3% ITART TA= F BT & d@9a 3w R o
L g7 g9 yary fFar srw

2. s Il

- §a & fow

- QeI

Ans

w

N

Question ID : 98958010009
Chosen Option : --




Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
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Roll No. :
Registration
No.
Name :
Arya College of Engineering and Information
Exam Venue : Te)cl:hnologg/ 9 9
Exam Time: 4:00 PM -5:30 PM
Exam Date : |11/03/2019

Section : General Section

Q.1 Study the diagram below and identify the region representing girls who are employed but unmarried.

UESUHUINT LD . I9O0IJOo0VUIOI T

Chosen Option : 1

Q.2

A, B. C.D and E are sitting in a row. C is between D and A, E is neither at the end. nor next to D and is to the left of B

Whg = last. ™™ is to the right of D?
Ans x 1. B B

X2 E
X3 A
vaicC

UESUHUINT D . 9O0IJOo0UISOoL

Chosen Option : 4

The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and

definitely follow(s) from the information given in the statements.

Statement 1 : All shells are skins.
Statement 2 : No skins are cats.

Conclusion I : No shells are cats.
ans “ X" Neither I nor II follows
2. Only conclusion I follows
v 3 Both I and II follow
4. Only conclusion II follows

[ QLUeESHON 1D T Yo6950Uds64 ]




l Chosen Option : 2

Q4 Choose the option which completes the given figure series
VAL > B Is4) v

-+ = ?

X
<l =

Ans

.0
> 2 e

3

Question ID : 9895809392
Chosen Option : 3

Q.5 Four words have been given, out of which three are alike in some manner, while one is different. Choose the odd one.

Ans X1 Scarf
X 2. Sweater
3. Sunglass

X 4 Gloves

Question ID : 9895809375
Chosen Option : 3

Q.6 Four letter clusters have been given, out of which three are alike in some manner, while one is different. Choose the odd

one

Ans  of 1. RSU
& 2. YAC
X 3. LNP
X 4 CEG

Question ID : 9895809374
Chosen Option : 1

Q.7 A, O, M. H. K and U are sitting in a circle facing the centre. A is NOT sitting next to M or U, U is to the right of H. K is
to the left of M, who is opposite O. Who is to the right of O?

ans X1 H
v A
X3 K
XU

Question ID : 9895809382
Chosen Option : 1

Q.8




Choose the option figure in which the problem figure is hidden/embedded.

Question figure:

o
v

Ans

X 2

X 3.

D [ | B B

Question ID : 9895809394
Chosen Option : 1

Q-9 Select the correct option that will fill in the blank and complete the series.

1024, 2. 1600, 2000, 2500, 3125
Ans X1 1350

X 2. 1440

v 3. 1280

X 4 1125

Question ID : 9895809387
Chosen Option : 3

Q.1 mthe following questions a piece of paper is folded in the manner shown in the question figure(s). Select the figure out
0 of the answer choices showing the unfolded pattern after the punches (cut).

Question figure:
Ans . S
r 8
(=}
o|O
v
o
O
X °8
Xa 2
o

Question ID : 9895809396
Chosen Option : 2




Q.1 Choose the option that most closely resembles the mirror image of the given figure when mirror is placed at right side.

1
Question figure:
Py

[s I
K1l o

Ans

X2 8§

vz )

X4l

Question ID : 9895809395
Chosen Option : 3

Q.1 Some boys are sitting in a row facing north. Ganesh is 7th on the left of Akshit. Vinay, who is 20th in the row from left,
2 is 7th on the right of Akshit. If Kamal, who is third on the right of Ganesh, is 20th in the row from right, how many
boys are there in the row?

Ans X126
v 2 28
X 3 31
X 4 30

Question ID : 9895809383
Chosen Option : 2

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
3

Pen : Write :: Knife :

Ans  of 1. Cut
< 2. Shoot
< 3. Blood

4. Vegetable

Question ID : 9895809376
Chosen Option : 1

Qf Which of the following answer figure will complete the given figure?

Question figure

R
< 7]




e

Question ID : 9895809393
Chosen Option : 1

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
5

TSQ:JHG:LTM:?
Ans - X 1. FBC

X 2. ACD
X 3. UVO
v+ NGO

Question ID : 9895809378
Chosen Option : 4

Qél Select the correct option that will fill in the blank and complete the series.

LM, QR. VW, ____
Ans X' 1. UK
v 2 AB
& 3. AD
X 4 SM

Question ID : 9895809373
Chosen Option : 2

Q.1 Select the correct combination of mathematical signs to replace “** signs and to balance the given equation:
7

96*2%20*2*174

Ans of 1% .+ =
K2 +x+
P 3 sescdind
Ko +++=

Question ID : 9895809391
Chosen Option : 1

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
8

4896 :3785::7852:?

Ans X1 4519
v 2. 6741
X 35630
X< 43438

Question ID : 9895809388
Chosen Option : 2

Qg-l If MUNREB is written as 628146 and IESRES as 345145, how will SERBER be written?

Ans 1.




< 2541164
3. 451146

4. 541146

Question ID : 9895809380
Chosen Option : 1

Q.2 Four options have been given out of which three are alike in some manner, while one is different. Choose the odd one.

0

Ans X197
v 2 135
X 3. 167
< 4199

Question ID : 9895809389
Chosen Option : 2

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.

Telephone : Communication :: Radio :
Ans  of 1. Broadcast
X 2. Story
X 3 Art
/< 4. Character

Question ID : 9895809377
Chosen Option : 1

Q.2 In the question two statements are given, followed by three conclusions, I, IT and III. Assuming that the information in
2 the statements is true, even if it appears to be at variance with generally established facts, decide which conclusion(s)
logically and definitely follow(s) from the information given in the statements.

Statement 1 : All tigers are cats.
Statement 2 : All cats are felines.

Conclusion I : Some felines are tigers.

Conclusion IT : All tigers are felines.
Conclusion III : Some felines are cats.

Ans 1. Only conclusion IIT follows
« 2 All conclusions I, II and III follows
3. Only conclusion I and III follows

4. Only conclusion I follows

Question ID : 9895809385
Chosen Option : 2

Q.2




Find the missing number from the below options.

811100
121] ?

Ans X1 225
v 2 144
X 3256
X 4. 169

Question ID : 9895809390
Chosen Option : 2

Q‘-l2 In a certain code, COLD is coded as GSPH, then how is NOT coded in the same way?

Ans  of 1 RSX
X 2. XRS
X 3 RSY
X 4. XSR

Question ID : 9895809379
Chosen Option : 1

Qéz Select the correct option that will fill in the blank and complete the series.

4.3, 7973, 34
Ans X113
X219
Vv 14
X 15

Question ID : 9895809386
Chosen Option : 3

Qéz Which of the following was the first Law Minister of Independent India?

Ans X 1. Jawaharlal Nehru
< 2. Abul Kalam Azad
3. Bhimrao Ramji Ambedkar

X 4 Asaf Ali
Question ID : 9895809561
Chosen Option : 4
Q2 . . .
-~ Photosynthesis in plants converts light energy to energy.
Ans 1 thermal

v 2 chemical




X 3 kinetic
4. physical

Question ID : 9895809565
Chosen Option : 4

%2 The major gap in the Western Ghats is at:
Ans 1. Palghat
2. Mangalore

& 3. Madurai
4. Manipal

Question ID : 9895809569
Chosen Option : 3

%? The ‘Ghumura® dance is from the state of:
Ans 1. Punjab
v 2. Odisha

& 3. Tamil Nadu
& 4. Kerala

Question ID : 9895809548
Chosen Option : 1

QS *Matki’ is a form of dance from the state of:

Ans X' 1. Kerala
2. Gujarat

3. Madhya Pradesh
4. West Bengal

Question ID : 9895809549
Chosen Option : 3

Q3 The Chola Empire of the South emerged in the:
Ans 1. oth century BC
2. 1oth century AD
3. gth century AD

2. 17t century AD

Question ID : 9895809570
Chosen Option : 2

Q2'3 In the 2016 Olympics men’s singles badminton title was won by:

Ans X 1. Lee Chong Wei
X 2 Kidambi Srikanth




« 3. Chen Long
/< 4 Lin Dan

Question ID : 9895809551
Chosen Option : 2

%3 The British ruled India for nearly:
Ans 1. 50 years

W 2. 200 years

/< 3. 100 years

< 4. 500 years

Question ID : 9895809571
Chosen Option : 2

93 Where did the Chipko movement first start in India?

Ans X 1. Tamil Nadu
< 2. Maharashtra
< 3. Karnataka
v+ Uttar Pradesh

Question ID : 9895809572
Chosen Option : 2

Q.3 A person who advocates separation of the state from religious institutions is called a
5

Ans X 1. Communalist
v 2. Secularist
< 3. Socialist
< 4 Feminist

Question ID : 9895809560
Chosen Option : 3

O3 The Prime Minister who led India during the 1965 war with Pakistan is:

Ans 1. Morarji Desai

< 2. Indira Gandhi
v L al Bahadur Shastri
& 4. Jawaharlal Nehru

Question ID : 9895809555
Chosen Option : 2

Q7-3 Which is one of the factors of subsistence used to measure the Poverty Line in India?

Ans 1. Equality

v 2. Education
< 3 Internet
& 4 Transportation




Question ID : 9895809557
Chosen Option : 1

Qé3 The men’s title of the 2018 Australian Open Tennis Championship, was won by.

Ans X 1. Rafael Nadal
2. Roger Federer

« 3. Stan Warwinka
4. Andy Murray

Question ID : 9895809552
Chosen Option : 2

Qé3 The 2017 Sahitya Academy award for Bengali was won by:

Ans - X 1. Himanshu Bose
v 2. Afsar Ahmed
3. Ramesh Megh

4. David Bhattacharya

Question ID : 9895809553
Chosen Option : 1

Qd“ The Goods and Services Tax allowed India to become:

Ans X 1. An East and a West market
v 2. A common market
3. A set of separate markets

& 4. A South and a North market

Question ID : 9895809559
Chosen Option : 2

@4 Which of the following is not a Metamorphic rock?

Ans X 1. Gnesis
X 2. Marble
& 3. Slate
v 4 Limestone

Question ID : 9895809563
Chosen Option : 1

%* The Aga Khan palace is located in the state of:

Ans  of 1. Maharashtra
< 2. Uttar Pradesh
< 3. Kerala
4. Madhya Pradesh

Question ID : 9895809550
Chosen Option : 2




Q.4 A stain of curry on a white cloth become reddish brown when soap is used because the soap is:
3

Ans - X 1. Neutral in nature
< 2. Acidic in nature
< 3. Alkaline in nature
v+ Basic in nature

Question ID : 9895809564
Chosen Option : 2

24 Which is the deepest lake in the world?
Ans 1. Lake Tanganyika

< 2. Lake Vostok
v 2 Lake Baikal
4. Lake Superior

Question ID : 9895809567
Chosen Option : 1

Qé“ An ecosystem consists of:

Ans

[uny

. Chemical and physical components

N

- Biotic and abiotic components

w

. Physical and social components

N

. Biotic and antibiotic components

Question ID : 9895809568
Chosen Option : 1

Qé“ Leguminous plants replenish the soil by the presence of

Ans - X 1. Firmicutes

2. Spirochaete

¥ 3 Rhizobium
4. Aquificae
Question ID : 9895809566
Chosen Option : 3
Q.4 The process of is used to increase shelf life of milk by destroying disease causing microorganisms.

7
Ans 1. pasteurisation

2. evaporation

# 3. condensation
4. hydrogenation

Question ID : 9895809562
Chosen Option : 2

%* The railway budget is:




Ans 1. Part of the Central budget
. Part of the States budget
. Separate from the Central as well as State budget

N

w

N

. Separate from the Central budget

Question ID : 9895809558
Chosen Option : 3

Q§4 The reign of the dynasty has been described as the golden age of Indian civilization.

Ans - X 1. Porus
& 2. Harsha
< 3. Buddha
( 4. Gupta

Question ID : 9895809554
Chosen Option : 3

st In which year was The Reserve Bank of India was established?

Ans of 11926
X 21947
X 31950
& 41952

Question ID : 9895809556
Chosen Option : 4

Q.5 The cost price of 27 articles is same as the selling price of 18 articles. What is the profit percent?
1

Ans X 1. 40%
v 2 50%
X 3.30%
& 4 25%

Question ID : 9895809733
Chosen Option : 1

Q2-5 A train 400 m long passes a pole in 20 seconds. What is the speed of the train?

Ans X170 km/hr
v 2 72 km/hr
< 3. 68 km/hr
< 4 64 km/hr

Question ID : 9895809743
Chosen Option : 2

Q.5 A discount of 20% in the price of rice enables X to buy 5 kg more rice for ¥100. What is the reduced price of rice per
3 kg?

Ans 1. 33
X232




X33
Vi

Question ID : 9895809728
Chosen Option : 4

Q.5 A and B can together complete a task 40 days. They worked together for 30 days and then B left. A finished the
4 remaining task in next 22 days. In how many days A alone can finish the task?

Ans 1. 48 days
2. 88 days
3. 30 days
4. 40 days

Question ID : 9895809742
Chosen Option : 2

Q.5 A hollow copper pipe is 22 cm long and its external diameter is 28 cm. If the thickness of the pipe is 3 cm and iron
5 weighs 8.5 g/cm3, then the weight of the pipe is closest to:

Ans 1. 34kg
2. 44 kg
3. 14 kg
4. 24 kg

Question ID : 9895809738
Chosen Option : 1

Q.5 The least number that should be added to 2,397 so that the sum is exactly divisible by 3. 4. 5 and 6?
6

ans X 1.6
K24
X35
Vi3

Question ID : 9895809730
Chosen Option : 4

Q7'5 The median of 31, 25, 17, 23. 45 and 59 is:

Ans X123
X2 25
X3 31
v i 28

Question ID : 9895809729
Chosen Option : 2

Q.5 Excluding stoppages, the speed of a bus is 70 kmph and including stoppages, it is 56 kmph. For how many minutes does
8 the bus stop per hour?

Ans X 110 min
< 2. 8 min
& 3 15 min
v 4 12 min




Question ID : 9895809744
Chosen Option : 1

Q.5 A and B can complete a task in 40 days and 16 days respectively. A started the task alone and then after 12 days B
9 joined him till the completion of the task. How long did the task last after B joined the task?

Ans 1. 8 days
2. 6 days

X 3. 14 days

X 4. 12 days

Question ID : 9895809741
Chosen Option : 3

Q.6 A sum of money amounted to 720 in 2 years and T792 in 3 years when interest is compounded annually. The annual
0 rate of interest. (in %) is:

Ans X1 5%
X 2. 7.50%
X3 7%
v 4. 10%

Question ID : 9895809727
Chosen Option : 2

Q.6 InX's opinion, his weight is greater than 60 kg but less than 68 kg, Y doesn't agree with him and says that X's weight is
1 more than 62 kg but less than 70 kg. The mother of X believes that the weight of X is greater than 64 kg. If all of them
are correct in their estimation, then what is the average of different probable weights of X, if the weight is in integer?

Ans 1. 68 kg
. 67 kg
. 66 kg
. 65 kg

N

w

~

Question ID : 9895809724
Chosen Option : 3

Q.6 The ratio of the number of boys and girls in a college is 6 : 7. If the percentage increase in the number of boys and
2 girls be 20% and 10% respectively, what will be the new ratio?

Ans of 1 72:77
X 2.35:36
<3 36:35
X4 77:72

Question ID : 9895809735
Chosen Option : 3

Q.6 A right triangle with sides 5 cm, 12 cm and 13 cm is rotated about the side 12 cm to form a cone. The volume of the
3 cone so formed is:

Ans

1 81 mem?

2100 T cm?

3 91 Tem?

< 4110 T em’




Question ID : 9895809740
Chosen Option : 3

©° The value of 64 +2X (9 +3) X 3+9—32 is:
Ans K11

V20

<3 —1

X2

Question ID : 9895809726
Chosen Option : 4

Q.6 The average weight of 8 people increases by 2.5 kg when a new person comes in place of one of them weighing 75 kg.
5 What is the weight of the new person?

Ans 1. 95kg
. 75 kg
. 85kg
. 65 kg

N

w

IS

Question ID : 9895809723
Chosen Option : 3

Q.6 How much time will it take for an amount of ¥360 to yield 72 as interest at 5% p.a. of simple interest?
6

Ans B 1. 3 years
W 2. 4 years
X 3. 2.5 years
X 4. 3.5 years

Question ID : 9895809737
Chosen Option : 1

Q.6 The pie charts show the market share of companies in the rice market in 2017 and 2018. The value of sales of Company
7 Ain2017 was 40 lakhs. If its sales grew by 25% in 2018, what was approximate value of sales of company B in 2018?

DISTRIBUTION OF SALES IN 2017 DISTRIBUTION OF SALES IN 2018

Ans - X 1. ¥12.56 lakhs
< 2. 13.96 lakhs
v 3 Z12.96 lakhs
< 4. T13.56 lakhs

Question ID : 9895809747
Chosen Option : 2

Q% The valueof 24 + 4 X (3 + 3) + 2 is:

Ans 1.




X224
X320
v 18

Question ID : 9895809725
Chosen Option : 4

Qéﬁ 120 men consume 720 kg of rice in 30 days. In how many days can 90 men consume 270 kg?

Ans X118
<212
K309
v 15

Question ID : 9895809734
Chosen Option : 1

Q.7 Two students appeared for an examination. One student who scored 20 marks more than the other, his score was 60% of
0 the sum of their marks. What was his score?

Ans X 1. 80
X220
<3 40
v 2. 60

Question ID : 9895809731
Chosen Option : 3

Q.7 The line graph shows the scores of a batsman in 6 consecutive matches. What is the range of his scores?
1

Score in each Match

»
2 1

Ans of 1. 53
X 2 43
X341
X4 51

Question ID : 9895809745
Chosen Option : 3

Q.7 An article was sold for 34,000. Had a discount of 10% was being offered, the profit would have been 20%. The cost
2 price of the article was:

Ans 133,200
2. 33,310
3. 33,000
4. 3,600

Question ID : 9895809732
Chosen Option : 4

|
Q7




Ans X1 169 T m?2
2. 172 tm?
3. 165 1 m?
4 180 Tm?

Question ID : 9895809739
Chosen Option : 2

Q.7 The bar graph shows the number of paintings sold by an art gallery in each month from January to June. How many
4 paintings does it need to sell in July for the 7 month average to be 90?

Ans X 1115
X285
< 390

v 2 110

Number of Paintings Sold

10
I n
Ape My

o5 888 8§
7 I
i I
§ I

Question ID : 9895809746
Chosen Option : 3

Q.7 Ina bag there are coins of 25 paisa. 50 paisa and 1 rupee in the ratio of 3 : 4 : 5. If there are in all T31, then how many 1
5 rupee coins are there in the bag?

Ans X112
X216
X3 24
v 4 20

Question ID : 9895809736
Chosen Option : 4

Section : English Language

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No substitution required.

When the vegetation is altered, the animal life also changed.

Ans 1. No substitution required

2. also changes
X 3. changed

4. is changing

Question ID : 9895809908
Chosen Option : 1

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No substitution required.

The greed of human beings leads to over utilization of natural resources.

A
ns 1. leads for

v 2. No substitution required




X 3. lead to

4. leading to

Question ID : 9895809909
Chosen Option : 1

@3 Select the meaning of the given idiom.

Piece of cake
Ans 1. Something very difficult

N

. Something very tasty

w

- Something very easy

SN

. Something very soft

Question ID : 9895809923
Chosen Option : 4

Q.4 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No substitution required.

The term flora is use for denote plants of a particular region or period.

Ans 1. used denoting
2. denoting

v 3 used to denote
4. No substitution required

Question ID : 9895809907
Chosen Option : 3

Q5 Select the meaning of the given idiom.

A snake in the grass
Ans 1. Cowardly and brutal

& 2. Low and mean
3. Anunreliable person

4. A hidden enemy

Question ID : 9895809922
Chosen Option : 3

Q6 Select the most appropriate word to fill in the blank.

We should take  measures to prevent recurrence of such incidents.
Ans - X 1. substitute
v 2. effective
X 3. casual

4. properly

Question ID : 9895809929




l Chosen Option : 4

Q7 Select the antonym of the given word.

ILLICIT
Ans 1. Illegal
X 2. Unlawful
v 5 Lawful
4. Illegitimate

Question ID : 9895809921
Chosen Option : 4

@8 Select the word which means the same as the group of words given.

A sentimental longing or wistful affection for a period in the past
Ans 1. Harmony
< 2. Affliction
3. Nostalgia
X 4. Paradise

Question ID : 9895809924
Chosen Option : 1

@9 Select the antonym of the given word.

ABUNDANT
Ans 1. Ample

& 2. Plentiful
3. Copious
o 2 Scarce

Question ID : 9895809920
Chosen Option : 2

Q(-)l Select the most appropriate word to fill in the blank.

Dense mangroves are common varieties with roots submerged water.
Ans - X 1. beside
X 2. over
v 3 under
& 4. behind

Question ID : 9895809910
Chosen Option : 3

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Canyou (1) a world without human beings? Who but humans (2)
have utilized the resources and created a (3) and cultural

environment? The people living in a country are imp ortant to (4)

the economy and the society. They (5) are the greatest resource.

SubQuestion No : 11
Ql'l Select the most appropriate option that will fill in the blank
number 1.
Ans - X1 realize
2. figure
X 3. devise
4. imagine

Question ID : 9895809913
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Canyou (1) a world without human beings? Who but humans (2)
have utilized the resources and created a (3) and cultural

environment? The people living in a country are imp ortant to (4)

the economy and the society. They (5) are the greatest resource.

SubQuestion No : 12
Q2'1 Select the most appropriate option that will fill in the blank
number 2.
Ans - X 1. would
v 2 could
< 3. can
< 4 will

Question ID : 9895809914
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Canyou (1) a world without human beings? Who but humans (2)
have utilized the resources and created a (3) and cultural
environment? The people living in a country are imp ortant to (4)
the economy and the society. They (5) are the greatest resource.
SubQuestion No : 13
Q3'1 Select the most appropriate option that will fill in the blank

number 3.

Ans J 1.




& 2 communal
3. general

& 4 familiar

Question ID : 9895809915
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Canyou (1) a world without human beings? Who but humans (2)
have utilized the resources and created a (3) and cultural

environment? The people living in a country are imp ortant to (4)

the economy and the society. They (5) are the greatest resource.

SubQuestion No : 14
Qj Select the most appropriate option that will fill in the blank
number 4.
Ans - X1 evolve
2. develop
# 3. mature
< 4. establish

Question ID : 9895809916
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given. Select the most appropriate
option for each number.

Canyou (1) a world without human beings? Who but humans (2)
have utilized the resources and created a (3) and cultural

environment? The people living in a country are imp ortant to (4)

the economy and the society. They (5) are the greatest resource.

SubQuestion No : 15
Qél Select the most appropriate option that will fill in the blank
number 5.
Ans - X1 jtself
v 2 themselves
< 3. yourselves

< 4. ourselves

Question ID : 9895809917
Chosen Option : 2

Qél Select the word which means the same as the group of words given.

Violation of something holy or sacred

Ans 1.




< 2. Ceremony
3. Sacrilege

& 4. Pious

Question ID : 9895809925
Chosen Option : 4

Q1 Select the synonym of the given word.

ISOLATION
Ans X 1. Association
< 2. Communication
3. Separation

4. Integration

Question ID : 9895809918
Chosen Option : 3

Qél Identify the segment in the sentence which contains the grammatical error from the given options.
Concern above rising pollution led to the launch of various action plans.
Ans  of 1. Concern above
X 2. Jaunch of
X3 led to
4. action plans

Question ID : 9895809906
Chosen Option : 3

Qél Select the wrongly spelt word.
Ans 1. Nmety

& 2. Neither

& 3. Noticeable

o 2 Neccessary

Question ID : 9895809926
Chosen Option : 1

%2 Select the most appropriate word to fill in the blank.

The house remained  for a long time.
Ans - X1 evicted
< 2. empty
v 3. vacant
< 4. blank

Chosen Option : 3

[ Question ID : 9895809928 ]




! Select the wrongly spelt word.
ans - X 1. Sacrifice
2. Sanctity
< 3. Schedule
v 4 Salry

Question ID : 9895809927
Chosen Option : 4

Q.2 Identify the segment in the sentence which contains the grammatical error from the given options.
2

Most of the freshwater lake in India are in the Himalayan region.

Ans 1. Most of the
2. in India
/< 3 arein
v 4 freshwater lake

Question ID : 9895809904
Chosen Option : 4

Q2 Select the most appropriate word to fill in the blank.

The elephants are the most majestic animals the mammals.
Ans X1 as

& 2. between

« 3. among

X 4. over

Question ID : 9895809911
Chosen Option : 3

2 : ™
Q4 Select the synonym of the given word.

INTEGRATION
Ans - X 1. Division
2. Separation
v 3 Unification
4. Segregation

Question ID : 9895809919
Chosen Option : 1

Q5-2 Identify the segment in the sentence which contains the grammatical error from the given options.
Rivers has been of primary importance for human settlements since ancient times.
Ans 1. of primary importance
¥ 2. Rivers has been
& 3. since ancient times.
/< 4 for human settlements




Question ID : 9895809905
Chosen Option : 2

Section : Hindi Language

Q1 fe are a3 it @% A SRR #E ¥ R segEE e a1 e #
IEHR_ W T TR T AT H Fer 3T A& 9T |
Ans X1 HETTH
2. HeTeT
4. FSITAT

Question ID : 98958010037
Chosen Option : --

Q2 Ru o1v A & @ifsa @5 Fr Sfaeia & & R s9gea feeT #1 99 #Y
T a1 §gd & JEes & arel 3
Ans X 1 FHETHTET
. 3T
< 3. FEEHET
4. FSEETAT

Question ID : 98958010039

Chosen Option : --
% Rerd T 1 s ¥ AT 39gFA Aeg F TTA HL
¥ 3@ F F v sfwhar & FHpfa 9reg #X o gl
Ans Laﬁa
X 2. HTISE
X 3. IIEad

Question ID : 98958010043
Chosen Option : --

** T aTT AT F 9g T A S FE IR 2

HIAT ST HT FAIMH & =TT & gl grein|
ANS L e ar
2. 8k wTaT g
X 3. 3egr
4 FHIAT ST W

Question ID : 98958010035
Chosen Option : --

—




Question ID : 98958010050
Chosen Option : --

Question ID : 98958010051
Chosen Option : --

7 g w wHErE e ¥ -

Ans 1 ﬁm
X 2. Fordr
3. AT

Question ID : 98958010053
Chosen Option : --

** R T F R F T 39S g F AT F

5§ #AfT F A g2 & g 7T gl
Ans  of 1. HTRIT

Question ID : 98958010041
Chosen Option : --

** HIgSHAET T THEE el § -
Ans (lﬁ-ﬂg
X2 gg

X 3 AT




X 4 GHeAdT

Question ID : 98958010052
Chosen Option : --

% s @ we A T w e ggEd A b

Ans 1. m
2. gegar
3. gt

v i 3eTdY

Question ID : 98958010056
Chosen Option : --

G g FerY @ ST gy Foadr oy -
AL §RIT T A AT
K 2. Todrer

3. HTforer HIAT

o greff @ IRA FIAT

Question ID : 98958010055
Chosen Option : --

% T IS T e T TUaT H
Ans of 1 TOT
2. Afe
X 3 F8TT
P

Question ID : 98958010058
Chosen Option : --

% TEr T I e F TIT Y
Ans 1-%%

Question ID : 98958010059
Chosen Option : --

Comprehension:




frafai@a seamer & Nea wuer & ofd ey & @ o
T geAl F HJARX HIfST-

#$ B 98T T W TH 3@ e fA (1) & o &
g T ATH & IAT| TAH 30h A F e 30w
?W?mﬁﬁmaﬁﬁﬂ@ég‘émaﬁr
_ (2) I Ot FaA AT @ H o9 T stmerssIer
o (3) TATETOT F HI B AT W @I AT FH T H
sfasy & wfy (4) g STodr AU A W Jehdr @
g1 Y & 5013 ¥ T Fe H FoEa (5) fFEs
A H @-T€ FT Adr AT 33T 82
SubQuestion No : 14

% sy F wFfag Rea T (1) ¥ Rw
3UYFT WA E

s 1 ofigear

Question ID : 98958010045
Chosen Option : --

Comprehension:
frafaf@a s & Raa TuEr @ 9f ez & =
T FeAl & HJAR HIfST-

F3 foet @1 W W 7 W wred A (1) & a &

Sgd T A & 1| T FS 3 WA F feer el

?W%mﬁmmﬁﬁm@?maﬁ
(2) X & O Fraw AT @ F WO T sqrerasIer

¥ (3) ATATEROT H A B AT W T AT FH LT A

afasy & 9 (4) &H e AU o ¥ Ul Ear

g1 T off ofis & T Toporet & Foac (5) faer

AT H @@ FT Agl e 3347 22

SubQuestion No : 15

% ey & AT feg = (2) F R
39GFA UG B

2. AT
< 4 3eH




Question ID : 98958010046
Chosen Option : --

Comprehension:
frafafla earer & Rea wumEt & ofd wezmr & 0= e
AT FeAT F HJAR Hifore-

F3 foet Tl WA W 7 5w WA & (1) % a¥ &
agagﬁ;magg’rml 9Ia: T 3% IHH ¥ Aeaw mdar
ﬁgﬂm#mﬁ@rmaﬁﬁﬂ:ﬂé?maﬁr
(2) FT & ol o T T & -9 T SeTHEAET

o (3) aTATERUT H A FHr AT W T AN FH T H
sifasy & 9fy (4) g5 Fodr AT o @ AFAT Wwar
iR A agTPFaa fraeadr (5 Fus
AT H @IE F AT AT 35 27
SubQuestion No : 16

% aemy & EHaT Reg == (3) ¥ Rw
3IYFA 2Aee, 1T

Ans xl_ .
}(2.Qﬁ-a-
X3 gfta
v garfaa

Question ID : 98958010047
Chosen Option : --

Comprehension:
forrafof@a ey & Rea wuer & 9fd ez & 3= e
T FeAT F HJAR e

F% o T8l W@ W H 7 ATt A (1) F ¥ &
agagmn@wg’rml QI 3HF IHH T Aaw 3mar
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